PLANT ENTERPRISES PRODUCTION							
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value	
COTTON							
Lint - Irrigated		600.0	850.00	510,000	lbs.	\$265,200	
Lint - Non-irrigated		19,239.0	700.00	13,467,300	lbs.	\$7,002,996	
Seed - Irrigated		600.0	1,360.00	816,000	lbs.	\$44,880	
Seed - Non-irrigated		19,239.0	1,120.00	21,547,680	lbs.	\$1,185,122	
Cotton (Total)	48	19,839.0				\$8,498,198	
FORESTRY		,					
Pulpwood							
Pine				9,129	cords		
Hardwood				32,224	cords		
Pulpwood (Total)				41,353			
Chip & Saw				659	cords		
Saw Timber							
Pine					board feet		
Hardwood				3,979,162	board feet		
Saw Timber (Total)				6,247,367			
Total Pulpwood, Chip & Saw, Saw Timber FOB Mill	,					\$5,659,559	
Total Forestry Stumpage						\$2,887,649	
Forestry (Total)						\$5,659,559	
FEED GRAINS							
Corn	47	6,667.0	115.00	766,705	bu.	\$1,755,754	
Grain Sorghum	139	19,604.0	48.00	940,992	cwt.	\$3,763,968	
Oats	*	64.0	50.00	3,200	bu.	\$7,584	
Feed Grains (Total)		26,335.0				\$5,527,306	
HAY FOR SALE		-					
Grass	489	11,750.0	3.00	35,250	tons	\$1,762,500	
Hay for Sale (Total)		11,750.0				\$1,762,500	

Page 1 of 6

PLANT ENTERPRISES PRODUCTION							
Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value		
1,890					\$567,000		
*				acre	\$350,000		
*				acre	\$25,000		
					\$375,000		
8	430.0	380.00			\$187,910		
205	500.0	350.00	175,000	lbs.	\$105,000		
	930.0				\$292,910		
27	11,385.0	56.70	645,529	cwt.	\$3,582,686		
317	58,954.0	32.00	1,886,528	bu.	\$12,545,411		
44		· · · · · · · · · · · · · · · · · · ·			\$15,684,937		
		181.00	3,849,508	gal.	\$558,179		
	21,268.0				\$16,243,116		
					\$802,870		
			,		\$13,419,432		
29	3,186.0	360.00	1,146,960	bu. (50 lbs.)	\$14,222,302		
*	40.0	230.00	9,200	cartons (40 lbs.)	\$138,000		
				,			
6	2.0	550.00	1,100	doz. bunches	\$7,700		
	2.0		,		\$7,700		
*	1.5	4,000.00	6,000	lbs.	\$18,000		
8	9.0	550.00	4,950	doz. bunches	\$34,650		
*	2.0	180.00	360	bu.	\$7,200		
	Number of Producers 1,890 * 8 205 27 317 44 29 * 6 * 8	Number of Producers Acres 1,890 * * * 8 430.0 205 500.0 930.0 27 11,385.0 317 58,954.0 44 21,268.0 21,268.0 21,268.0 21,268.0 29 3,186.0 * 40.0 6 2.0 2.0 * 1.5 8	Number of ProducersAcresYield per Acre1,890*****8 430.0 380.00 205 500.0 350.00 930.0930.027 $11,385.0$ 56.70 317 $58,954.0$ 32.00 44 $21,268.0$ $21,268.0$ 181.00 29 $3,186.0$ 360.00 * 40.0 230.00 6 2.0 2.0 550.00 * 1.5 $4,000.00$ 8 9.0 550.00	Number of ProducersAcresYield per AcreTotal Production1,890 $*$ $*$ ** <td>Number of ProducersYield per AcresTotal ProductionUnits of Measure1,890* *acre acre acre$*$acre acre$*$* *$*$acre acre$*$$*$ *$*$ *$*$ *$*$$*$ *</br></br></br></br></td>	Number of ProducersYield per AcresTotal ProductionUnits of Measure1,890* *acre acre acre $*$ acre acre $*$ * * $*$ acre 		

Page 2 of 6

PLANT ENTERPRISES PRODUCTION							
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value	
VEGETABLES							
Shallots	*	1.5	1,000.00	1,500	doz. bunches	\$7,500	
Sweet Corn (Fresh)	10	22.0	600.00	13,200	doz. ears	\$39,600	
Turnips (Fresh)	*	1.0	600.00	600	doz. bunches	\$4,200	
Watermelon	*	550.0	275.00	151,250	cwt.	\$907,500	
Vegetables (Total)		629.0				\$1,164,350	
WHEAT	27	6,787.0	40.00	271,480	bu.	\$874,166	
TOTAL ALL PLANT ENT	ERPRISES	,				\$71,314,504	

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
AQUACULTURE						
Crawfish (Farm)	14	370 A	cres in Prod.	268,250	lbs.	\$174,363
Aquaculture (Total)						\$174,363
FRESHWATER FISHERIES						
Crawfish (Wild)	42			456,000	lbs.	\$237,120
Catfish (Wild)	70			1,850,000	lbs.	\$863,950
Buffalo	88			385,000	lbs.	\$59,290
Gar	88			82,350	lbs	\$75,927
Other Finfish	86			391,350	lbs.	\$71,226
Freshwater Fisheries (Total)						\$1,307,512
FUR ANIMALS				496	pelts	\$2,629
ALLIGATORS (WILD)				2,610	ft.	\$57,420
HUNTING LEASES	297	83,550 No	o. Acres		acre	\$459,525
		Le	eased			
HONEY	39	6,150 N	o. Hives	442,800	lbs.	\$597,780

Page 3 of 6

AVOYELLES PARISH TOTAL ALL FISHERIES & WILDLIFE ENTERPRISES

	ANIMAL ENTERPRISES PRODUCTION							
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value			
CATTLE & CALVES								
Steer Calves								
300-400 lbs.			1,511	head	\$549,052			
400-500 lbs.			1,315	head	\$549,677			
500-600 lbs.			1,844	head	\$847,263			
600-700 lbs.			1,700	head	\$884,000			
Steer Calves (Total)					\$2,829,991			
Heifer Calves								
300-400 lbs.			1,331	head	\$426,066			
400-500 lbs.			1,219	head	\$459,520			
500-600 lbs.			1,962	head	\$835,655			
600-700 lbs.			1,499	head	\$730,763			
Heifer Calves (Total)					\$2,452,004			
Yearling Cattle								
600-700 lbs.			1,177	head	\$612,040			
700-800 lbs.			1,878	head	\$1,056,375			
Yearling Cattle (Total)					\$1,668,415			
Cow-Calf Pairs			1,622	pair	\$1,167,840			
Cull Cows			1,054	head	\$348,057			
Cull Bulls			435	head	\$317,768			
Cattle & Calves (Total)	435	22,533 No. Cows			\$8,784,075			
HORSES								
Brood Mares								
Show Horses	9	12 No. Brood Mares		head	\$21,000			
Recreation Horses	147	600 No. Brood Mares	1,607	head	\$2,410,500			
Brood Mares (Total) Stud Fees					\$2,431,500			

\$2,599,229

Page 4 of 6

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
HORSES						
Show Horses		9	No. Stallions	39	mares bred	\$58,500
Recreation Horses			No. Stallions		mares bred	\$16,700
Stud Fees (Total)						\$75,200
Show Horses	25			185	head	\$740,000
Recreation Horses	310			580	head	\$580,000
Horses (Total)						\$3,826,700
SHEEP						
Wool		222	No. Sheared	1,776	cwt.	\$284
Slaughter Lambs				99	head	\$9,714
Feeder Lambs				116	head	\$7,482
Stocker Sheep				84	head	\$3,990
Cull Sheep				57	head	\$1,995
Sheep (Total)	23	211	No.Breeding			\$23,466
			Ewes			
GOATS						
Show Goats					head	\$3,300
Slaughter Goats					head	\$11,475
Stocker Goats					head	\$9,295
Cull Goats				49	head	\$2,058
Goats (Total)	35	207	No. Does			\$26,128
SWINE						
Show Pigs					head	\$2,700
Feeder Pigs					head	\$4,338
Slaughter Hogs					head	\$17,537
Culls				64	head	\$7,040
Swine (Total) TOTAL ALL ANIMAL E	22	159	No. Sows			\$31,615 \$12,691,984

Page 5 of 6

AVOYELLES PARISH AVOYELLES PARISH TOTAL

\$86,605,717